
Computer Science II February 13th, 2020 Quiz 4 Score

Name: Solution

1. We wish to approximate the value of c which is the point on the graph of y = x2 that is closest to (1, 0). Fill
in the blanks.

(a) If we were to represent the problem as finding the zero of f : [a, b] → R then

a = 0 , b = 1 , f(x) = 2x3 + x− 1

(b) If xn represents the n-th iterate of the Newton-Raphson method for the finding the zero then

xn+1 = xn − 2x3
n+xn−1
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(c) If yn represents the n-th iterate of the Secant method for the finding the zero then

yn+1 = yn − (2y3
n+yn−1)(yn−yn−1)
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for suitable M > 0, and z ∈ R is the x-coordinate of the point on the curve closest to (0, 1)


